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the classical

Microeconomic Issues

Laisser faire laisser passer

Money is just a medium of exchange
The invisible hand

Closed economy

Say’s Law of Market

Perfect competition

Savings are automatically invested

Wages and prices are perfectly flexible
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The market

— The labour demand

Ld = f(w/p)

_. The labour supply
Ld = f(w/p)



Where do we get the labor demand function from?

L> From the production function —> Q:f(K L)

Q is the total product, exactly the quantity not the monetary value. L is the quantity of
labour used in production(number of workers), and K is the stock of capital(assumed
constant in the short term).
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The change in output due to an additional unit of
labour is known as Marginal Product of Labour (MPL)
and it is given by the expression MPL =AQ/AL .

The Law of Diminishing Returns. The production
increases at an increasing rate (MPL > 0), then starts to
increase but at an deacreasing rates, until it reaches a
peak, where it starts to decrease(MPL < 0).
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Number of Total Output Marginal Product of

Workers (Units) Labor (MPL) AQ /AL
1 Jalloue U o> i dusLoYy

1 10 10

Example 01 s s
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4 60 15
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Example 02

Let’s assume that the production function is:

Q=10.|_0.5

Deriving the Marginal Product of Labor (MPL):

Here w

nile we have a function not just values, we have to

derive t

ne function with respect to labor:

Q’(L) = dQ/dL=MPL = 10*0.5 L5 thus: MPL=5/L%5 = 5/+/L

MPL= 5/+/L
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Q’(L) = dQ/dL=MPL = 10*0.5 %5 thus: MPL=5/L%5 = 5/+/L
MPL= 5/+/L



HOW TO GET THE DEMAND LABOUR FUNCTION?

Assuming that the wage rate paid to workers is w (which represents the cost of labor), in a
competitive labor market, wages are equal to the marginal product of labor:

MPL= —
P

% is the real wage, it can be calculated by dividing the nominal wage W by the general price

level P.
After establishing the relationship between wages and the marginal product, you can rearrange

the equation to express the quantity of labor demanded (L) as a function of the wage (w):

|14
L=F(>)
We apply on our previous example:
_ _ oy — 2 _ _ 5 o w2 25 __ 2 _
MPL= 5/VL => MpL=w=—~ = w=— =>w’="=w/+«L=25
> = ‘i—i = L, the function of demand labor= f(W/P)
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it is downward-sloping function

- When real wages increase, it becomes more expensive for iS¢ 8Mally LIl ek A1) OF &l
employers to hire labor. As a result, employers may reduce
the number of workers they hire or seek alternatives such W/P;
as automation or technology to maintain their profit

margins. This leads to a decrease in the quantity of labor
demanded.

>

- Conversely, when real wages decrease, it becomes cheaper
for employers to hire labor. This encourages employers to
hire more workers, leading to an increase in the quantity of
labor demanded.
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The labor supply

the individuals would to offer more and more of their
free time for higher wages, labor supply is a function of
real wage, which is given by:

L = f(W/P)

labor supply increases as real wage (W/P) increases.
We should note that labor supply is determined by
real wage and not money wage. As wage rate
increases, a person works for more number of hours,
similarly, lower wage rate would discourage the

person from work.

W/P

it is upward-sloping function
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it is upward-sloping function

The labor supply s Sy e s 1
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Labour Market Equilibrium

w/P L, Figure: labour market equilibrium

When the L; and L, curves intersect at

= w 1
point E, the full employment level L is (;) '
determined at the equilibrium real wage (W)*
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Labour Market Equilibrium

if the real wage rises from (%)* to (%)1’ the
supply of labour will be more than its demand W/P
by L.1-L,1.

At (%)1, wage rate, (L1 - L,1) workers will be

L, Figure: labour market equilibrium

involuntary  unemployed because the (%)1_
demand for labour is less than their supply.

With competition among workers for work, (%)*
they will be willing to accept a lower wage (W)z
rate. Consequently, the wage rate will fall P~

w W «
from (?)1'50 (?) .

The supply of labour will fall and the demand for

I'S’ I'd

labour will rise and the equilibrium point E will be
restored along with the full employment level L.
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Labour Market Equilibrium

On the contrary, if the wage rate falls

from(%)*to (%)2 , the demand for labour

will be more than its supply . Competition
by employers for workers will raise the

wage rate from (%)2 to (%)* and the

equilibrium point E will be restored along
with the full employment level L".

W/P

)
Z)

)

L,

Figure: labour market equilibrium
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Labour Market Equilibrium

w/P L, Figure: labour market equilibrium
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